PSE 476
Homework #1
Due 1/7/05

1. If you work at a pulp mill in Texas, the odds are that your wood supply will consist of mostly: (1 point)
a) Hardwood residuals

b) Softwood residuals

c) Softwood roundwood

d) Hardwood roundwood

2. Which of the following is not a basic function of the wood yard at a pulp mill? (1 point)
a) Preparing wood for pulping (debarking, chipping, screening, cleaning, etc)

b) Maintaining an inventory of the fiber source (metering, storing, etc).

c) Dealing with disposal issues related to wood processing.

d) Charging of chips to digesters.

3. Imagine that you are working at a pulp mill in Oregon; your wood source is most likely: (1 point)
a) Softwood roundwood

b) Hardwood roundwood

c) Softwood residuals

d) Hardwood residuals

4. Image that you are working at a pulp mill in Vermont; your wood source is most likely: (1 point)
a) Softwood roundwood

b) Hardwood roundwood

c) Softwood residuals

d) Hardwood residuals

5. Moisture content is a very important parameter. In the pulp and paper industry, moisture content is determined using the following equation. (1 point)
a) MC = mass of water in wood/oven dry wood mass

b) MC = mass of water in wood/wet wood mass

6. Which of the following statements is false? (1 point)
a) Oversized chips under cook leaving rejects

b) Under sized chips over cook leaving mush.

c) Chip thickness is the most important dimensional parameter for chips.

d) Chips are typically between 1/8 to 1/4" thick.

e) None of the above.

7. Which of the following is not used to slow chip deterioration during storage? (1 point)
a) Keeping chips soaked with water to limit oxidation.

b) Drying wood to below 20% moisture content.

c) FIFO

d) Reduced chip pile height.

8. Which of the following best describes the effect that the higher use of smaller diameter logs is having on the pulp and paper industry? (1 point)
a) The higher content of juvenile wood in small logs makes it easier to pulp because of the lower lignin content.

b) Smaller logs are easier to work with because of reduced bark problems.

c) Wood costs are higher because of increased harvesting costs.

d) Increased juvenile wood has higher earlywood content and thus a higher specific gravity.

9. A large percentage of logs have their bark removed through the use of a drum debarker.  How long typically are logs retained in the debarker to assure that all the bark is removed? (1 point)
a) 1-2 minutes

b) 5-10 minutes

c) 20-30 minutes

d) 60 minutes

10. Which is easier to chip, hardwoods or softwoods? (1 point)
a) Hardwoods

b) Softwoods

11. Approximately how much of a softwood log is converted to acceptable chips from a chipper running at optimum conditions? (1 point)
a) 55%

b) 65%

c) 75%

d) 85%

